GENERAL TECHNOLOGIES, INC.

g\\m\m\\\\_

Ol M) \\m’

220109

4-0.5"or
4-0.6" Strands

Composite
Bar Chair

GTI S4-05 BONDED SYSTEM ASSEMBLY

ANCHOR, 4 STRAND, GTI S4-05/06, TRUMPET

2201

ANCHOR, 4 STRAND, GTI S4-05/06, WEDGE PLATE

201205

WEDGE, 2 PIECE, .6/.5"

220115

BLOCKOUT, GTI S4-06

220118

ANCHOR, 4 STRAND, GTI $4-05/06, GROUT CAP, GASKET

220117

ANCHOR, 4 STRAND, GTI $4-05/06, GROUT CAP

220100

DUCT, 21IMM X 72MM

340634

HEAT SHRINK SLEEVE

220044

GROUT TUBE, 21MM

220085

GROUT VALVE, ASSEMBLY

341001

HEX CAP SCREW 5/16-18 X 3

341002-3

NUT & WASHER, 5/16-18

341010

HEX CAP SCREW 3/8-16 X 2

34101112

NUT & WASHER, 3/8-16

220112

DUCT ANCHOR ADAPTOR

13022 Trinity Dr. « P.0.Box 1503 - Stafford, Texas 77477 - Tel: (281) 240-0550 -

Toll-free: (888) 255-0440

Fax: (281) 240-0990 - sales@gti-usa.net - www.gti-usa.net

10/20



